Should be published with minor changes, mostly to reduce the length.  

Since Korea is a peninsula, is it always necessary to refer to the Korean Peninsula rather than just Korea?  This only excludes the islands that are also part of Korea.  

p.2.  L3.  Delete the.  Distribution plural.
L8.  Delete be.  Delete ent.

p. 3.  L3.  Change within to to.  

L4.  Widespread.

L20. Change the ones to those.

L26.  This to those.  Effort plural.

L27.  Concentration plural.

p. 4.  L23.  Change shared with to similar to those of.

p.5.  L9. Delete a.

p. 6.  L2.  Covers singular.

L19.  Change the one to NCN. 

L22-23.  NCN is a factor of two higher than NCN at European rural sites (Asmi et al, 2011).

P7.  L1.  Insert the before TSI.  Change with to and the.  

L3.  Delete quite.

L4.  Delete between.  Change and to dash.

L5.  Delete still some.

L15.  Insert wintertime after higher.  Concentration plural.  Delete in winter.  Insert easily after cannot.  

p.8.  L1.  Delete much.

L3.  Move comma right after relationship.  Move left parenthesis right in front of where.  I am not aware that this is the Twomey equation.

L5.  Remove parentheses.  Remove first %.  Delete range.  Period after S.  Insert k before indicates.  Change how fast to the.  Increases to increase.

L6.  Change portion to concentration.

L7.  Supersaturation plural.

L9.  Change can to could.  Change portions to proportions.

L10.  Insert would after This.  Implies to imply.

L13.  Change see to note.

L18.  N0.4% and N0.8% need to be exchanged because 725 is greater than 695.  967 cannot be Dg.  

L19-20.  These first three numbers are not ratios.  729 is not k.

P9.  L2.  Insert motor vehicle after averaged.

L3.  Insert motor vehicle before Traffic.  

L5.  Change the to motor.  

L10.  Maximum not minimum.  

L12.  Change the traffic to motor vehicles.  Change is to are twice.

L13.  Change contributor to source.  

L17.  Change the to this.  Insert progressively after becomes.  

L20.  Engine plural.  Change the obvious to a.  move source after traffic.  Delete of.  Delete from the.  


Perhaps diesels/trucks have different traffic patterns than automobiles.  Perhaps they continue to drive throughout the night and do not drive much more during daylight.  I know that in Los Angeles large trucks are not permitted on freeways during much of the daylight hours, especially rush hours.  Even without laws trucks may prefer nighttime rather than daytime driving for the sake of economy.  This might be reflected in the anomalous 0-9 AM data.  
L27.  Delete the.

P10.  L1.  Insert the before Yonsei.

L5.  Change and to semicolon.

L7.  The to these.

L15.  More explanation of how data other than maximums and minimums are treated; i.e., proportionally.  

L16.  A before TSI.

L25.  Insert a after with.

P11.  L14.  Delete one twice.  Delete during twice.  
L15.  Insert a in front of DMT and TSI.  

L17.  Delete the.

p.12.  L1.  Change stick out to extend.  Delete the.

L2.  Insert an in front of additional.

L5.  Delete the.

L6.  Delete by.

L5-6.  Move 21-55% in front of larger. 

L6.  Change as a to to.  Delete tive.

L7.  Delete using.

L11.  Delete The twice.  Change during to of.

L13.  Delete ern.  Insert then after and.  

L21.  Delete an altitude of.  

L22.  Delete first km.

p.14.  L6.  Insert comma before but.  

L7.  Insert the before fact.

L8.  Delete the twice.

L9.  Add ern to west.  Delete than in other parts of.  

L13.  Suggest not suggests.

p.15.  L3-5.  What about larger particles?

p.16.  L2.  Define AE.

L6.  Insert the before PBL.

L11.  Are to were.  Delete on.  Move October 15, 2009 in front of flights.  
L13.  Double period.  Insert A before westward. 

L14.  On to of.

L15.  Change at to to.

L25.  Change from to on.  Delete measurements.

p.17.  L1.  Portion to proportion.

L6.  So to Now.  Delete the.  Distribution plural.  Delete data.

L7.  Delete ern.  Change of the Korean peninsula to Korea.
L10.  Delete event.

L23.  Move a after such.  

p.18.  L19.  Should ship be plural? Insert time before span.  

L.20.  Delete period.  Measurement plural.  

L.24.  Delete averages of.  Insert was after range. 
P.19.  L1.  Delete by.

L6.  Define AOD.

L20.  Delete particle.  Delete range.
P20.  L2.  Delete the.  Change in the to at.
L4.  Delete the.

L10.  Delete 1st km.

L12.  Delete the.  Change those to data.

L14.  Delete 1st the.  Distribution plural.

L15.  Delete the.  Concentration plural.

L16.  1st the to that.  Delete the.  Cloud plural. Change its to cloud.

L17.  Delete the.

L18.  Delete dataset.

L19.  Delete 2nd the.

L20.  Distribution plural.  Delete the.

Fig. 1.  Top and bottom are confusing.  A and b would be better.  What about the error bars for CN and Dg?  Could probably delete for N0.6% and N0.6%/NCN.  Delete last the.  Deviation plural.
Fig. 3.  Isn’t this a regression line?  

Fig. 13.  Explanatory of what?  What are these lines?

